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Question ID:- 1

NOTABLE

Choose the word similar in meaning to the one given above.
(1) Prosperous

2) Comfortable

Distinguished

Average

(
(
(

45

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

OBSCURE

Choose the word opposite in meaning to the one given above.
(1) Ponderous

(2) Thoughtful

(3) Heedless

(4) Apparent

Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3,Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3




Identify the part of speech of the underlined word in the following sentence.

I cannot give him credit for this.

(1) Preposition
(2) Adverb

(3) Adjective
(4) Interjection

Options:-

.1, Option ID :- 9,

« 2, Option ID :- 10,
. 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Many aspire for greatness.

Choose the option in which the Voice in the above sentence has been correctly changed into Passive
Voice.

(1)  Greatness is being aspired by many.

(2) Greatness is aspired by many.

(3) Greatness has been aspired for by many.

(4) Greatness is aspired for by many.
Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

Hari said to me, I want to help you.”

Choose the option in which the above sentence has been correctly changed into Indirect Narration.
(1) Hari told me that [ wanted to help you.

(2) Hari told me that he wanted to help you.

(3) Hari told me that he wanted to help me.

(4) Hari supported me with an offer of help.

Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6




Choose the option in which the following words/ phrases have been rearranged to form a meaningful
and grammatically correct sentence.

(A) to the

(B) we should

(C) ourselves

(D) accommodate
(

E) circumstances

(1) (A)(© (B) (D) (E)
(20 (© (B) D) (A) E)
(3)  (B) (D) (©) (A) (E)
4 (D) E) (A) B) (©)
Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
« 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the following sentence which has an error in it.

All kinds / of stationery / is / available here.
(@) (b) (©) (d)

N =
—

— e —
o
—
3

4y (d

—

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8
Fill in the blank in the following sentence by choosing option out of the given ones.

He did not come to the party, ?
(1) wasn't he
(2) didn’t he
(3) was he
(4) did he
Options:-
.1, Option ID :- 29,
« 2, Option ID :- 30,




. 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the following sentence by choosing option out of the given ones.

Rita her seat in the class.
(1) dropped into

(2) dropped off in

(3) fell in with

(4) got on with

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Fill in the blank in the following sentence by choosing option out of the given ones.

One should not be devoid decency.
(1) of

(2) on

(3) off

(4) into
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PGTCS

Question ID:- 11




e fau TTu Tenvr @t uget watifien St fasea = wEm St -

7 ST SR 6T % Gl a2 STt T YUTEl i et ST il § foh a9 <9 | 31 =i 95
STEYAeh B TER H ey 1 79R oiR gfies ST=<ier | MR =i wifd o1 go Sl € ¢ | 3afa g6
57 T oir gfas e =1 varg & =feu)

3k

@ A F SEH STHE T 2
(1) RN % -9 &l a0l
(2) RN % T B I AR
(3) '
(4)

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

et feu T TNy Tt Uge daifien St faehed T = it -

=T STRL TR ART o G a2 STeh! 1A YUl ol S@eht § ST il § 1 s <91 | 31 =S agd
YT &5 FERo H fen #1 7R 3R g e | YRd F 9l o6 g sl @ 2 g 2
5 foen it gfts Fe &1 99" % =feu)

HA-Hl S G AT el T © 2
(1) foren =t TorERn SR S e
(2) foen %1 R SR gfw <
(3) H S<eH SR 4 Hied
(4) =fieR H1ed iR & g

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13




et feu T TNy St uget waifies sfed fasen o =aw wife -

& ST 3T ART o EITT 20 STh! ShTd WOTCH ol SRt H ST ohidl § foh eHN <9 | &1 =i 9gd
STTava &5 Ty H foran 1 v o gt eEier | 9Rd &1 Yl 1 qe Smafe o # | sefan g
S T TR sifees H¥e o1 Wad e Jiet |

T TRl 310 o SER § -
(1) fen =1 98R

(2) “fHH H18H
(3) SITerfeR

(4) =T yoTTeAr
Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

et feu U TNy Tt Uget daifien Sfera faehed s = SRty -

Il STERT TR AET o @ qe STeh! T YUl Rl SEeht § SATHI e § foh g <v H &1 =S agd
YT E-o e # e #1 wEr ok i atie | aRd 9l o6 g sl @ 2 gufer ad
1 Toren &I gftss Hed %1 yarg % Jifey|

TR % SATER e Frefafad § ¥ o aRE w e € 2
(1) =l = AR &

(2) |l =l forferd s

(3) @t = SAYR

(4) T F R AR HEA

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

- 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

‘ gifter " 9Tse 1 g IR SR U § -

(1) &H+3%
(2) URgH+3H
(3) #m+fE
(4) g+fireR




Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘graferes’ weg o el
(1) =

(2) %

(3) fo=

(4

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

‘gary’ & faey € -
(1) o=

(2) O

(3) TEEA

(4) gy
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
« 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

‘Ao’ w1 f-foeae € -

(1) dU+3%g

(2) <UH+HE]

(3) AU

(4) g+
Options:-

.1, Option ID :- 69,




« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

(1) e, A
(2) 3Afd, famwem
(3) forpr, Scp=
(4) TN, SHE
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

THH-TEYE H I el & -

(1) =H-%M

(2) #R-ER

(3) TRH-TIH

(4) SHITA-HEHT
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PGTCS
Question ID:- 21

Who among the following has the power to grant Pardons as per the Constitution of India ?
(1) President

(2) Supreme Court

(3) Parliament

(4) Attorney General of India




IRd F Hfaum % F7an fFefaftes § 9 fF0 e 3 & ufw 5em &5 T 22

(1) TEHfa

(2) ToEAH A

(3) TWHE

(4) RA 1 HEFAEETE

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which among the following is the longest waterway in India ?
(1) Brahmaputra river between Sadiya and Dhubri.

(2) West-Coast canal in Karnataka

(3) Ganga river between Allahabad and Haldia

(4)

4 Narmada river in the area over East West canal

TG H Ted Fell STednl SA-91 ¢ 2

(1) Hrfean 2R sEd & o Fengs Ta

(2) wFATew H ufeem deg Ae

(3) SERER SR Bfeedl o sif= T TEl

(4) gd-ufeey Tt & FW & &3 ° T A

2

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

The diffusion of iron in Crystalline and metamorphic rocks results in soil developinga _ colour
(1) Blackish |

(2) Bluish

(3) Reddish

(4) Greenish




TRfEH SR TG F22M 4 e & o & qRomEEy {1 = T} foenfad 2t 21

(1) =hre
(2) et
(3) e
(4 =0
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24

Which of the following was founded after independence in India ?
(1) Federation of the Indian Chamber of Commerce and Industries
(2) All India Democratic Women's Association

(3) Indian Industrial and Commercial Congress

(4) Depressed Classes Association

Freafafed § 3 fruert Tumen vyra 1 el & 96 g 2

(1) R =nfor iR e aftws (FeE o g gfeam = offe e ds Seeie)
(2) IfEe IR CenRdii Afeen H9 (3 sfean SHihfes T THIfATEN)

(3) g adrEifien Sl arfufsss s (3fea deficaa Uz wuftfaa i)

(4) =fera ot wu (felee Fenfast wafausm)

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

After the Lahore session of Congress, 26th January 1930 was declared to be celebrated as which of
the following in India ?

(1) National Unity Day
(2) Independence Day
(3) Swadeshi Day

)

(4) Home Rule Day




FHUH & ARK AEYA & 918, 26 FFa, 1930 &I YRd ° g feq & w9 § gamn s shfee famar 1 ?
(1) T T fead

(2) FEdsmn feaw

(3) Tacet feaw

(4) =M & feaHq
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Who was given the ‘Satyajit Ray Lifetime Achievement Award’ in the 53" International Film
Festival of India (IFFI) 2022, held in 2022 ?

(1) Fernando Trueba

(2) Alejandro Amenabav
(3) Carlos Saura

(4) Julio Medem

7Y 2022 H A 53 9 AT G ftheq Tgicda (S7E.U%.U%. 35, ), 2022 H ‘ Iersiia L @EF 218Y
sTEgHe 3rare’ fa fean = 2
(1) WAz
(2) ITASIgl TR
(3) RicE HIS
(4) Sifern #eH
Options:-
.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

When was the birth anniversary of Dr. Rajendra Prasad, the first President of India observed ?
(1) 26 November 2022

(2) 30 November 2022

(3) 3 December 2022

(4) 5 December 2022




I % Teel T2l Sl T6S TE1E 1 SiEdl e §9E 18 2
(1) 26 TEw=R, 2022

(2) 30 FE=R, 2022
(3) 3 femmr, 2022
(4) 5 fegwmr, 2022
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in English language category ?
(1) Ramayana for Children
(2) Mahabharata for Children

(3) Two - Epics -in- One. The Ramayana for Children (The girl who chose) and the Mahabharata
for Children (The Boys who Fought)

(4) The Forbidden Forest

FUSH e = § 2022 1 91 "ife [UERR fRE gEE o1 e o T 2
(1) TEEY wR Hesd

(2) HEYRT W faesd
(3) 2-ufued 3A-a, fg wHEm i faega (f 716 g =is) de f§ wervma o faee (fg = g wie)
(4) g wRiTET wiEE

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who ranked first in the medal list in the 36" National Games held in Gujarat in September -
October 2022 ?

1) Maharashtra
Haryana

U3 D

e —

)
) Karnataka
)

4) Service Sports Control Board




T H fedver-sTergeEy, 2022 § SIS 36 o U Well | UGeh dTferhl H i Ueel T T @l 2

(1) el

(2) B

(3) HARH

(4) G v He e
Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

Where do we use wires that melt quickly and break when large electric currents pass through
then ?

(1) Electric Iron
(2) Electric Fuses
(3) Electric Kettles
(4)

4 Geysers

T 39 9 R HET YA A € il forene fagd o | qeR §H W Sed ¥ fUeeet 22 oW € 2
(1) fosiett =t 0 (seifRs 29)

(2) Torredt % W (Seifaes W)
(3) Tasteft =t Faefl (geferes Hea)
(4) TSR

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA_Q31-Q35_PGTCS
Question ID:- 31

How many 2's are there in the following number sequence, each of which is preceeded and
succeeded by ‘1" ?

1 2 1L 1212241220271 2071223

(1) 4
2 8
3 5
4 2




= fou T Hem s H U 12 w1 He faa § TS 9§ ueie % wed SR ae § 17 S 2 2
12112122112121121221

(1) 4
(2 3
3 5
4) 2

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

From his house, Atul travels 10 kms to the east. Then he turned left and covered 5 kms and then
he turned right and covered 6 kms. He turned again to his left and covered 5 kms. He then turned
to his left and covered 20 kms. Fina]ly, he turned to his right and covered 5 kms. In which
direction is he from his starting point ?

(1) North-East
2)  South-East
3) South-West

(
(
(4) North-West

wget a9 =X A 10 Rt 9d & =oran € R o 9wt iR gmar € @R 5 R @ g € i fe g oir
T 6 fo ol 7w B 1 a8 fF sraeft sl oiR gue 5 for, @7 % 81 Rt gg oot arff o gea
2 3 20 for ot 7 =hean €1 31 H 9% 79 <A ST A & 991 5 R, 99 A §1 9% o SRy feig
¥ fop fam 8 82

() -y
(2) =feor-e
(3) fam-ufyEm
(4) IT-UfTE=H
Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33




L, M, N, O, P, Q and R are sitting in a line facing West but not necessarily in the same order.

‘O’ is on the immediate right of ‘N’ “M’ is at an extreme end and has ‘p’ as his neighbour. ‘R’ is
bertween P and Q. O is sitting third from the south end.

Who is sitting in the middle ?

1y L
(2) N
3 P
4 Q

L, M,N,O,P,Q R # iR e ieh i A se E g a s s A df 92 €1 'O, 'N' %
T 2 ol SR &1 ‘M UF Sifgg SRR E & P S 92t B R, P e 'Q F A H R ‘O gfam
BRY T T WS R

e § ®F a8 82
(1) L
(2) N
3) P
(4 Q
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 2, Option ID : -130

Question ID:- 34

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: What is the code for ‘flowers’ in the code language ?

(I) :  In the same code language, “flowers are good” is written as ‘mot det mic’.

(I) : In the same code language, “they like flowers’ is written as ‘det nik shi".

(1) The statement (I) alone is sufficient to answer the question while statement (II) alone is not
sufficient

(2) The statement (II) alone is sufficient to answer the question while statement (I) alone is not
sufficient

(3) Both statements (I) and (II) together are necessary to answer the question

(4) Both statements (I) and (II) are not sufficient to answer the question.




=1 e W fean € foren are €1 whe 1 SR I few e € o wedies o g st & i § 1 e ol
HifeTe o SF-T7" Y= 999 &1 39 24 & fa uaia 272

e @Wﬁ‘ﬂowers’%ﬁﬂ@%?
HA (I): 39 & 91 H, ‘flowers are good’ﬂ‘motdetmic"aﬁ’@qﬁmW%I
Y (1) : T & 91 H ‘they like flowers’ Fl ‘det nik shi’ & &9 § feran s 2
(1) o (T) 3ol WeT 31 ST 33 % T i & i o (IT) Srhey watwr =i 2
(2) R (II) STohct WA o1 ST oA o foe gafe § Safes & (1) v 7@ 2
(3) YA (I) 2R (1), S THerer w9 &1 3| 37 & o smaws 2|
(4) A (T) 3R (IT), A1 999 =1 S o+ = fore o & € |

Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, triangle represents men, circle represents non-educated, square
represents sports persons and rectangle represent married.

3

How many non - educated married women who are not sports persons are there ?
(L) 6

2 7
3 8
4 9




= feu e st #, s geel @, g9 siffamdl @, o faenfedl 1 o s faanfedi 1 wfafafus e
gl

Tt ferert srfinfera ferenfed afeamd € < faeret == €2

1) 6
(2 7
(3) 8
(4) 9
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCS

Question ID:- 36

An input device which comprises of an exposed protruding ball held by a socket having sensors
for detecting ball's rotation for capturing input is :
(1) Touchpad

(2) Track ball
(3) Pointer
(4)  Sensor ball

T 37qe Teamsy, foed 379e o=k 3 o forg siet & 29 =1 9dl T &g T §6L 9T Hiehe § Th
THUsE iegfEn | 2 €, Feerd ¢

(1) <=
(2)
(3) w@WEX
(4) HE da
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
« 3, Option ID :- 143,




. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

A word processing software best suited for creating documents with graphical elements like images,
text and hyper texts is :

(1) Notepad

(2) Wordpad
(3) MS-Word
(4) Note text

W, JHL 3R FRWSHZ oY WHihd TAHIH & 1Y SlHe d°M B Faifus 3ugad de-grafgn
HRTT HH 918 2

(1) ¥rede

(2) =gl

(3) THTEE-aE

(4) e H
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

- 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

When I connect all computers of my school together to share resources like printers, what type of
network is formed ?

(1) PAN
(2) MAN
(3) LAN

(4) WAN

el H 3197 Bhel o Wl Hrgel o TYet SiF HHEE] o 9ig i o [ U w1y Siredl § d1 HE 91 92
A1 8 ?

(1) 9 Tu (PAN)

(2) THTT (MAN)
(3) TATUTET (LAN)
(4) T UT (WAN)
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,




. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

Which of the following is not a cloud storage service ?
(1) Google Drive

(2) One Drive
(3) 1iCloud
(4) Hybrid Cloud

Freafefad | & = 9wk Ferse 2R ey 78 8 ?

(1) e gred

(2) =1 gEa

(3) 3IE ™S

(4) TEfE FEe
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Bullying people online on social media, messaging platforms or gaming platforms is known as :

(1) Online bullying

(2) Cyber bullying
(3) Cyber stalking
(4) Phishing

Hrere Hifesn, BT wiew™ =1 THT SewH 92 ATarsT @R &1 9] 32 e § 2

(1) Ao el

(2) HEE e

(3) HrgEL Al

(4) fofem
Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158




Subject : UL_Q41-Q55_PGTCS
Question ID:- 41

What do you mean by “Development” in child’s growth ?
(1) TItis a qualitative change while child is growing.

(2) Itis a quantitative change while child is growing.
(3) Itis an irreversible quantitative change,
(4) Itis a reversible quantitative change

1T i gafg H fawra’ § s o ared § 2

(1) % areeh &1 Hafe % H Famen [onEs 9 21
(2) % WIelh i Hofg A H gHaren TREmTes qRed ¢ |
(3) % FHGHHYIE YA URadd B

(4) I8 SgeHHTE IRETOTEE aREdd €|

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Which one of the following is not a social skill among children ?
(1) Showing affection to friend.

(2) Sharing food with peers.

(3) Playing with children.

(4) Distribution of birthday sweets.

Freifera & 9 =0 aIrerel =61 TSR SIS e @ 2
(1) 5 % gfa =8 ueeA

(2) THFHTT SR o T HISH TR FAT

(3) STEHRI % I Gl

(4) = fgq W fHer famo

Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43




Awareness of ‘Right and Wrong' by a child falls under :
(1) Moral domain

(2) Social domain
(3) Physical domain
(4) Emotional domain

TRl § ‘ Het 3R et & Wy i § e &9 % e A g ?

(1) =fae &=

(2) TS &

(3) ifasr &

(4) HITEHE &
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

The sensory development like “smell’ falls under which domain ?
(1) Communicative domain

(2) Adaptive domain

(3) Physical domain
(4)

4 Social domain

‘g’ S gae) oy frsiferd § @ for &3 % sfaia sar ® 2

(1) HIww &=
(2 STTFEe A
(3) ifas &=
(4) oIS &
Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45




Which one of the following characteristic feature is prominent among ‘Adolescents’ ?
(1) High degree of concentration
(2) Good degree of commitment
(3) Freedom and Revolt feeling
(4)

4) Shows sympathy to everyone

Treiferd § & =iF it stfvenafores fagmm ‘e’ H yqga @€ 2
(1) sTcafess TR

(2) = W &I wfaegd

(3) TN R fage @t e

(4) Y =i o Ufd FEFYfd 1 7eyH

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

What could be the major challenge to tackle adolescence in school ?
(1) Restlessness

(2) Low attention

(3) High degree of wisdom

(4) Aggression

foremmerdl § fervireen i guened ¥ froed § ygg A 2 & e & 2

(2) =aE H wHH

(3) = W H dfg

(4)  SATSRIHERA]
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
« 3, Option ID :- 183,

« 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47




As a teacher, what would you suggest to a parent to deal with their children to enhance
learning ?

(1) To buy more relevant books and ask them to read.

(2) To seek counselling from experts.

(3) To spend quality time, by both parents.

(4)

4) To give them pocket money as incentive for studying.

HIF % B9 H A Ara-fom F e el F e g9y F g6y § 9 g 3 2
(1) 3R sAferr i g&ash SeHt 9 3% 981 & fog &z |

(2) ¢ Tormusl 9@ Tl o o o e

(3) Hrar-fuar S 1 S % W1 O HHE SN e o for e |

(4) AT F T TRUET F ®Y H 3R Uik g 29 % fore e

Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

What is secondary socialising agency ?

(1) Home
(2) School
(3) Family
(4) Media

(1) &

(2) *a

(3) UREmr

(4) STHUR HEAH
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49




Which one of the following steps would enhance learning in a child ?

(1) Regular interaction of parents with teachers on a child’s activities at home.
(2) Regular PTA meetings.

(3) Promote co-curricular activities.

(4) Special counselling to the child by experts.
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(2) Trafha ®9 9 AfqvEs ST29F H9 1 SSH FH ATESH
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(4) Toeresi R srerehi <l T el feun s

2

Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

How does home play a vital role to support school ?

(1) To guide teachers and school management.

(2) Home can extend financial support to school.

(3) By reviewing school activities at home and offer constructive suggestions.
(4)

4) By organising community programmes by children.

forgamera =1 T 3§ e i Ry geR ¥ vewayyf i § 2
(1) S=ATFge R foEea & yaud &1 AnieyH

(2) R foemer = foxi werm & w1 g §
(3) ¥R W famme =i nfafafemi =i qeian & 3R =AHS gIE 3o
(4) STeTshi gRI WHEIHH HEHH] 1 SAFSH #

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

- 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51




It is the responsibility of which of the following socialising agencies to provide happy and positive
growing environment for effective learning :

(1) Media
(2) School
(3) Family
(4) Teachers

ol e o fau g@Eg 3R 9snens [a™ &1 "eid UgH W & ade feitea § 9 T
HTHSITHRT TS 18 2

(1) SHHIR HegH

(2) g™

(3) HfEw

(4) SHAATFHIS

Options:-

.1, Option ID :- 201,

- 2, Option ID :- 202,

« 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

What are the ‘Developmental tasks’ in a child’s growth ?

(1) The activity performed by a child

(2)  The skill which is demonstrated during childhood.

(3) Learning of life skills at the appropriate time and stage of childhood
(4) The task to be accomplished at early childhood

1T i Hafg H faskmarers & #= 8 ?
(1) et gra faifed shehemy

(2) STEHEE H YEvH v

(3) SUFH HA H AR SCAER % Wl =0 H Sfad wive F s
(4) ST SreaER H gY TRt ST

Options:-

.1, Option ID :- 205,
- 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53




Which one of the following could be attributed to psycho-motor domain of a child ?
(1) Feeling

(2) Thinking
(3) Cycling
(4) Crying

freifera © 9 69 aTees & w85 &1 93 € o Sl § 2

(1) re
(2) TeeA
(3) HEfehet =elr
(4 T

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

The following example could be related to cognitive learning of a child :
(1) Exploring types of plants in garden

(2) Dancing

(3) Singing

(4) Crying

Teifera H | ford ISR o aieTeh o HaAIeTs SARRH ¥ Helg foran S Hehen § 2
(1) =Ff= H 91eY % Yol ol 9al Gl

(2 T

(3) A

(4 T

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55




Adolescence is the phase between :
(1) 15- 20 years
(2) 18- 21 years
(3) 10- 19 years
(4)

4 21 - 25 years

fepeirrereen freifena  § form = o At =e1 St & 2
(1) 15¥ 20 =¥ & sit=

(2) 18921 34 & =™

(3) 10¥ 19 ¥ & &

(4) 2192594 & &=
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PGTCS
Question ID:- 56

The change in behaviour is commonly known as :
(I) Understanding

(2) Thinking

(3) Learning

(4) Feeling

FggR T YRad Ar=aal el ¢
(1) =5
(2) fo
(3) AfarTH
(4) eTufa
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57




‘Learning’ is a mental activity comes under :

o=

) Behavioural theory of learning

12

Constructive theory of learning

)

(

(2)

(3) Connective theory of learning
(4)

=

Cognitive theory of learning

‘s’ we AEfee T 81 T8 Feifea | | former sl ot @ 2
(1) Aferm =1 =FagrE® fagid

(2) eIt = TATeRE g

(3)  @AferTH o1 Hedd fHgid

(4) AferTy 1 HaERTE fagi

Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

The student-teacher relationship is better in :
(1) Constructivism

(2) Behaviourism
(3) Cognitivism

(

4) Connectivism

Terneif-arearaess dey fAm=ifera # | ey Sede Sia1 & 2

(1) T=ERE

(2) SHERRAER

(3) HAMIHHAER

(4) HYFETRE
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59




How could learning be enhanced in classroom ?
(1) Through motivation

(2) Through frequent testing
(3) Humour
(4) Through drilling

Heq H Aoy Y SR S w7
(1) HfqUor & Frezm §

(2) SR-AR GH o T

(3) EFA %k HEAH H

(4) @R 9 % HEAH H

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

What is the significance of “Assessment” in classroom ?
(1) Support and remediation

(2) Measurement of learning level

(3) Evaluation of understanding
(4)

4) To know the progress of the child.

e o ' sTRe 1 I Heed © 2

(1) o i g
(2)  SIfRETH TR R {9
(3) WHH H AR
(4)  STeTsh =l YA ST

Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61




What is ‘Summative assessment’ ?

Carried out at the end of academic year.
Carried out every month

Paper - pencil test

Oral test every day

TR Hedish (TH ) 18 ?

(1)
(2)
(3)
(4)
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Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

What could be the demerit of using ICT tools in classroom ?

(1)
(2)
(3)
(4)

Impairment of independent thinking
Costly tools

Late bloomers can not understand.
Children will be addicted to technology.

FHE § Y 3T HAR Y] & SUH % W T 1 S 8 Hehdl § 2

(1)
(2)
(3)
(4)

a7 fad wfran sass &1 st

ST TE § |
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Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
« 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63




Which one of the following could be Audio- Visual instructional material in classroom ?
(1) Radio

(2) Television
(3) Text books
(4) Calculators

Freifera & & = when © gor-gwa Toern Tl & gl 8 2

Hi
i

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

What is the purpose of “Year plan’ in school ?

(1) To execute goals smoothly

(2) To recruit teachers in time

(3) Itprovides direction for action to achieve fixed goals
(4)

4 To rationalise financial resources

Tormer & ‘anfifes drsn’ =1 20 WA € 2

(1) &l = Gare ®9 H HEread

(2) THF T SAEATIHR] Bl ol

(3) zEd fuifia @edl &t it 2 = & oo foum g €t 2
(4) Tosirg SEEAl S gige S

Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

« 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65




According to ECCE in NEP-2020, the following needs to be achieved on priority in primary
schools :

(1) Functional Literacy and Numeracy

(2) Foundational Literacy and Numeracy
(3) Universalisation of Elementary Eeducation
(4) Free and Compulsory Education till class VIII

Tt foren Afifd 2020 # 3 & & € % 7R Wt fawmem | fifea | 9 feg o1ian & mafasa &
STER 9 g0 o s €2
(1) YFEeTs Fiaral i) Serem
(2) FfFEe TeE iR HeEE
(3) SfTenet fevem =1 Wi
(4) srSEl waT a6 Lgeh SR e e
Options:-
.1, Option ID :- 257,
- 2, Option ID :- 258,
« 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

What could be the better learning space in classroom ?
(1) Non-threatening and supportive environment
(2) Efficient teachers

(3) Classroom with good ventilation

(4) ICT tools

e H e HATH we # B Gehdl § 2

(1) Y=g i 9es "o

(2) THIA FATE

(3) SO STAEIH HET

(4) FE AR TR Wit % weE
Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67




Which one of the following could be the barrier of learning ?
(1) Fear of failure

(2) Poor ventilation

(3) Noisy surroundings

(4) Aggressive principal

Freifera & § = eaferm & snves & W1 @ 2
(1) STEFER &1 93

(2) G FEE

(3) wiRFH TiE
(4)  STRTH Jr=E
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

According to Educational Psychology, what is the best teaching method for enhancement of
learning ?

(1) Constructive learning

(2) Experiential learning
(3)  Project based learning
(4) Experimental learning

Ty weifaee & A7ER i o e & fau f=ifed J 9§ @ gaim fe fafy g2
(1) TEEE s

(2) NI SAfERH

(3) URETSHT S e

(4) YIRSt

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69




What is the role of teachers in constructive learning ?
(1) Imposes conditions on learners

(2) Open end questions are given to learners

(3) Gives freedom to learners

(4) Dictates terms with learners.

e eiferma F sremrass i yfae R 2
(1) =98 it W 99 eadifua & S 2

(2) =9H stferTaeRal & oTdm weA fou S g
(3) =HH AferTHERAl 1 WA & S ¢

(4) =EH sfyaed W SEE ud 9 S #
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The teacher controls the environment in :
(1) Behaviourism

(2) Cognitivism
(3) Naturalism
(4) Realism

FeA Freifena § € fred gafan =1 fete s &2

(1) HAARREE

(2) HIFERE

(3) Wepfdarg

(4) A«fETE
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCS

Question ID:- 71




‘Cerebral Palsy’ a kind disabi]il:y comes under :

(I) Intellectual disability
(2) Mental disability

(3) Physical disability
(4) Sensory disability

TRy Y (S et UF YR F faer &1 T8 feifea 8 9 e oimia o g2

(1) @ifes F-emmm

(2) HEfEw [

(3) wifE fyEaa

(4) Gz Haife oo

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

i

ysgraphia’ is characterised by :

(1) Poor learning

(2) Poor vision

(3) Poor hand writing
(4) Poor speech
Femmftran’ | = s & ?
(1) e At

(2) o9 g

(3) wH faamEe

(4) @y sAfefta
Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
« 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73




What is the role of teacher while teaching disabled children ?

(I) Resort to Tailor made teaching techniques to suit disabled children.
(2) Special classes separately for disabled.

(3) Special incentives for disabled.

(4) Special furniture to be arranged for disabled.

eI aeThi % S7EATTH H S1eATah i o et § 2

(1) Te=am setehl o STehal 1 SFT8 STEAYT qehrleh el HATHF il
(2) et areh & fou s & fadm wansdi #1 sraeE

(3) fe=i et & fe fadm ieamsA

(4) fesai sremeni o ferg famre wef=r =i sgeman

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

- 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74

What is School Development Plan ?

(1) Plan for School Architecture

(2) Document for Academic Plan

(3) Road Map that sets out for success of school
(4) Guide to implement strategies

feramer o e = &2

(1) TaeEnem™ 1 aRgehal & Had § dsH

(2)  RNeforer Fre HeEt gEdes

(3) Teremerd =i |werd o forg At arighoin
(4) FEAITE & A &Y arEH

Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75




Normally what type of Time-Tables are prepared in schools ?
(1) Home work Time Table

(2) Sports Time Table

(3) Class Time Table and Teacher Time Table

(4) C.C.A. Time-Table

feremerdl ® T g YR Y FHF-feien] IR’ &I Sl g 2
(1) 772 = 99 HRoi

(2) ShTST WA HROT

(3) RN WA YR IR 1A gHY iRl

(4) 9& yie=EE! fhesdi s g9y Hrof

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

Which one of the followings would form bridge between School and Home ?
(1) Non-Governmental Organization

(2) Parent Teacher Association

(3) National Social Service

(4) National Cadet Corps

freifera © &, w0 faener ik 78 & o= g & & Fom ?
(1) ¥R SR Hred

(2) AfqwER ALATE WY

(3) I TS Hal (T, UH. TH.)

(4) UL HE2 HBR (T /. HL)

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77




What is the role of ‘Morning Assembly” in child’s development ?

(1) Itinfluences positively on child to develop social value and self-esteem
(2) Promotes discipline

(3) Place for disseminating information

(4) Promotes Punctuality

FTeTeh o I | Wi Tel sTareet i yfie § 2

(1) SH | o TR - faehfad e § sl T SRS TH0e TS 8 |
(2) THH A I g e

(3) T YEA YHING A T 7 |

(4) THA guT-fresd 1 s e

Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

What is ‘Balavatika” Programme envisaged in NEP-2020 ?
(1) Learning of a child after 5 years of age.

(2) The learning of a child prior to the age of 5.

(3) Learning of a child in primary section.

(4) Learning of a child up to class VIIL

2t Tavear ifa, 2020 & wfterfeaa ‘sreenfes’ SrfEy w1 &2
(1) 594 =l 3G o YLER] Soeh/aTaen] Hl AT

(2) 58 @l 3 Ud H § Y3 Scish/aTicishl 1 SR
(3)  wnerfies e H srereR/afereRt 1 sifeT

(4) S HeENl Tk SeTsh/erRl i AT

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79




What is the aim of "DIKSHA" [Digital Infrastructure for Knowledge sharing] proposed in NEP
2020.

(1) ICT interface with Teaching
(2) Digital Platform for students

(3) Technological Intervention to achieve Foundational Literacy and Numeracy in Primary
Education.

(4) Digital Platform for competitive examinations

2t foren +Aifa, 2020 § weafaa Sten (fesfiea Swrgaey w Atds =) =1 =0 @ §7?

(1) e1eae § g1 iR SR YRifst &t o= d@iea (3e0hd)

(2) Tonfai & fog fesitea wiewm

(3) wrfiyer femmerl | gfamt wawar o HEAHE i Ted T S o fore Wi gsasy
(4) wfert wdansti & fau fesiea wewm

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

Who applied ‘Pragmatism’ in Education ?
(1) Watson

(2) Rousseau
(3) Hegel
(4) John Dewey

Toren & &= o ‘et fagia’ (mafes) % yfaaes e & 2

(1) d@reEd

(2) w4

(3) =™

(4) < S
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : CS_Q81-Q180_PGTCS

Question ID:- 81




Which of the following is not hardware of a computer system ?
(1) KEYBOARD

(2) PRINTER
(3) OPERATING SYSTEM
(4) MOUSE

Tfafad 5 9 M 9 T P yone! (faed) 1 2ed® 7@ ¢ ?

(1) KEYBOARD
(2) PRINTER
(3) OPERATING SYSTEM
(4) MOUSE

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which out of the following is the least capacity of memory unit compared to other options ?
(1) MB

(2) KB
(3) GB
(4) TB

Treferfad | | freent 9a g2 =1 & 1= fasredi i gor § Fod % 8 2

(1) MB
(2) KB
(3) GB
(4 TB

Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83




A collection of 4 bits is known as

(1) BYTE

(2) WORD

(3) NIBBLE

(4) KBYTE

s FaEF FNF e ?
(1) BYTE

(2) WORD

(3) NIBBLE

(4) KBYTE

Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

While working on computer, if we open a document in MS OFFICE WORD, which of the following
is used ?

(1) RAM
(2) ROM
(3) BIOS
(4) 1/0 BUS

Tk P W HH Fld 999 Ff 89 MS OFFICE WORD #H #iE SleFfHe @ield & dl =fafad d 9
fopgent W fopen ST @ 2

(1) RAM

(2) ROM

(3) BIOS

(4) 1I/0 BUS
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85




is not an operating system.

(1) UNIX

(2) WINDOWS
(3) ANDROID
(4 MS OFFICE

frafafaa 5 | =@ @t e faen =& § 2

(1) UNIX

(2) WINDOWS
(3) ANDROID
(4) MS OFFICE

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

What will be the result of the following Boolean expression ?
NOT True OR False AND True

(1) False

(2) True

(3) Error in Expression
(4) No result

Frfafed e =i o1 uftom = 2&mm 2
NOT True OR False AND True

(1) False
(2) True
(3) Error in Expression
(4) No result
Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87




Which Boolean expression is correct interpretation of the following logic circuit ?

D))o

(1) (X+Y)
(2) XYY
(3) X@Y
(4) (XeY)

Trefafad 9 aftqy (i gfthe) 1 W&t =me a1 e HeE HiF 9 ¢ 2

)~

(D (X+Y)
(2) XYy
(3) X@Y
(4) (Xe@Y)
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

Which of the following represents Absorption Law correctly ?
(1) X+YZ=(X+Y)(X+Z)

(2) X+XY=X
(3) (X+Y)=XY
(@ x-X=x

Frafafeg § 9 =9 @ a9 fFam (TesreE &) o1 98 ' 9 49 e s g ?

(1) X+Y-Z=(X+Y)(X+2Z)
(2) X+X¥=X

3) (X+Y)=XY

(4 (X X)'=X

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,
. 4, Option ID :- 352,




Answer Given:- 2, Option ID : -350

Question ID:- 89

Which of the following is exact equivalent of given binary number in Octal Number ?

('1[)1110[)[]1[}!11)2
(1) (232023)4
(2) (ABA)g
() (5613)4
(4) (3165)g

Frefafed § 4 =F 9 den sremd ge € v fGenar e & faogd gagea €2

(101110001011),
(1) (232023),
() (ABA)g

(3) (5613)g

(4) (3165)g

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

What is full form of ISCII encoding scheme ?

(1) Indian Standard Code for Interchange of Information
(2) Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4) Indian Scheme of Coding for Information Interchange

TS T Y ST ST RIS WA #i fawga Wi @@ 2

(1) Indian Standard Code for Interchange of Information
(2) Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4) Indian Scheme of Coding for Information Interchange

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91




Which of the following cannot be registered under cyber crime ?
(I) Sending pornographic material online

(2) Stealing of brand new internet routers from a showroom

(3) Accessing CCTV camera of a private company without their knowledge
(4) Sending threats on social media accounts

Frefafaa § 9§ forg 9He 1 9Ee 2909 & 9ed oS el a1 S Tl & 2
(1) e sTeeita Jel TS

(2) Tosll O1-F9 9 Tk 71 §2E U3 AR HEAT
(3) ol grgae st ot SR o o ek Y 3 A Y wE
(4) Hivrer HifSAT s W YHSI USHI

Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

Which of the following is an example of a very strong password ?

(1) STRONG
(2) abcl234
(3) admin

(4) Ap9#2@cQ

Treferfad ® | o @1 U 9gd Heied UEae 1 ISR & 2

(1) STRONG

(2) abcl234

(3) admin

(4) Ap9#2@cQ
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93




Which of the following protocol is used to upload and download files from remote
server/computers ?

(1) SMTP
(2) VoIP
(3) HTTP
(4) FTP

e wayFTgeEr 3 wege s iR gEde & & fou fefafea § 9 feg gemmta &1y fF
ST e ?

(1) SMTP
(2) VolP
(3) HITP
(4) FIP
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94

Garuda Skill Education has set up their new skill training campus in a place near Pune. The
campus has three close by buildings connected with each other using CAT6 cable. Which type of
network is established in the campus ?

(1) PAN
(2) MAN
(3) LAN
(4) WAN

TEE fhel TSI + QU o Asiaieh Ueh ¥ U 91 791 feahed A heqy w1 feran €1 oo | o=
Forgieh! fafees € St CAT6 el | 21194 § &1 83 & | 799 H fohd Yo ol Headh ifuq foan T 8 2

(1) PAN
(2) MAN
(3) LAN
(4) WAN

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95




Which of the following is not a Network device ?
(1) Switch

(2) Router
(3) Hub
(4) RAM

Trefafed § | 70 U Jeash feamd & & ?

() fFe=

(2) WX

3 =

(4 #RTTEH RAM)

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which of the following wired medium will be able to have highest speed data communication
possible ?

(1) Single pair telephone cable

(2) Fiber optic cable
(3) Co-axial cable
(4) Twisted pair cable

Treferfad | | fore TR A % gR1 S=aad TIfd S/ J990 H9d § ?
(1) e FH TEEE Hore

(2) SR Hife® FHed

(3) TmE (FI-ufgae) Had

(4) =FEfRid (fafes) Fea

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97




Which of the following is an invalid IP address ?
(1) 100.0.10.32

) 255.255.255.10
3) 192.168.10.15

) 256.10.12.5

Frefafed 8§ § 39 @1 wF 99 o6 f (IP) w29 7 87

(1)  100.0.10.32

(2) 255.255.255.10
(3) 192.168.10.15
(4) 256.10.12.5

Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
« 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

What is full form of ARPANET ?

(1) Advancement of Research Project Agency Network
(2) Advanced Research Project Agency Network

(3) Add on Research Project Agency Network

(4) American Research Project Agency Network

TR 0 T € & (ARPANET) &1 9 519 #1 € 7
(I)  Advancement of Research Project Agency Network

(2) Advanced Research Project Agency Network
(3) Add on Research Project Agency Network
(4) American Research Project Agency Network

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99




Which of the following is not an example of cloud computing services ?
(1) SaaS

(2) IaaS
(3) PaaS
(4) SaaP

Tfafad § 9 &F W Fase wrgfen widds %1 TH e 76 ¢ 2

(1) SaaS
(2) IaaS
(3) PaaS
(4) SaaP
Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

Which of the following is not an application of Al ?
(1) Chat Bot

(2) Financial Accounting System
(3) Driverless Car
(4) Face Recognition System

frfafed § 9 @0 T o8 (Al) Fi 0% T=HyE & ¢ 2
(1) == §ie (Chat Bot)

(2) wEARES sRsfin faeen

(3) EEAEH H

(4) wE Retwee faea

Options:-

.1, Option ID :- 397,

« 2, Option ID :- 398,

. 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101




Which of the following is an invalid identifier in Python Programming Language ?
(1) none

(2) False
(3) true
(4) For

YA g was d Fefafes 8 9 50 @ T o SRS femR § 2

(1) none
(2) False
(3) true
(4) For
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

Which of the following is not a valid operator in Python ?

M ==
@ =>
® //
(@ *

o ==
@ =>
(3) //
(4) &

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103




Identify the correct output of the following Python arithmetic expression :
1+(2-3) 4% %5//6

1y =171

(2) 172

(3) =170

(4 170

TefafEad T ST SSs & et ARy i Y9 hifed
1+(2-3)«4%%5//6
(1) -171

(2 172

(3) - 170

(4) 170
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Evaluate the following expression :
not True or not False and False

(1) True

(2) False

(3) None

(4) will generate an Error
Frefafad =15 &1 919 F19 hife
not True or not False and False
(1) True

(2) False

(3) None

(4) will generate an Error

Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105




Identify the correct output of the following Python Command :
print (10 or 40)

(1) 10
(2) 40
(3) 50
(4) 400

frefafad Tme waiE F W& Sy Hl 89 Hifag :
print (10 or 40)

(1) 10
(2) 40
(3) 50
(4) 400

Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

Identify the correct output of the following Python program segment ?
Pi=3.141592
print ('%.4f %Pi)

(1) 3.14

(2) 3.1415
(3) 3.1416
(4) 3.0000

TrefafEd qreE dium 97 o Wl S32Ye i I8 Sy
Pi=3.141592
print ('%.4f %Pi)

(1) 3.14
(2) 3.1415
(3) 3.1416
(4) 3.0000

Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422




Question ID:- 107

Which of the following is immutable data type in Python ?
(1) Set

(2) List

(3) Tuple

(4) Dictionary

qrEeA H SiEaia (3Hgead) Sl 2Ry fAmfafad § 4§ i |91 872
(1) Set

(2) List

(3) Tuple

(4) Dictionary

Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

If we have 2 Python lists as follow :

List1 =[10, 20, 30]

List2 =[40, 50, 60]

If we want to generate a list List3 as

List3=[10, 20, 30, 40, 50, 60]

then best Python command out of the following is :
(1)  List3=Listl + List2

(2) List3=Listl.append (List2)

(3) List3=Listl.update (List2)

(4) List3 = Listl.extend (List2)

fg g9N 9 = & T 2 9HYH (Python) = § .
List1 =[10, 20, 30]

List2 =[40, 50, 60]

7ifg &9 U iR foie List3 Ffed e =9ed ¢
List3=[10, 20, 30, 40, 50, 60]

it Frefafea o 8 ey T=9T HHS A o 8w 2
(1) List3=Listl +List2

(2) List3=Listl.append (List2)

(3) List3 = Listl.update (List2)

(4) List3 = Listl.extend (List2)

W N =




Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109

Identify the correct output of the following Python code :
L={8;8,2,2,1,1]

L.append(L.pop(L.pop()))

print(L)

Ly 52,2 1, 3]

2 8,82 2 3]

(3) [1,8;2 2 1]

(4 [1,1,2,2 3 3]

TrefafE qr=e s & Wl sy &l 8= Hifey
1=[8;8 22,11

L.append(L.pop (L.pop()))

print(L)

1 [[B2213]

2 [33,2 23]

3) [1,3,221]

@ [1,1,2 23 3]

Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
« 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

Identify the output of the Python Command :
print(22.0/ /5)

(1) 4.4

(2) 4
(3) 4.0
4 2




g TE UIYF FHE & PSS FI TSN RIS :
print(22.0/ /5)

(1) 4.4

(2) 4

(3) 4.0

(4 2
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

Find the output of the following Python code :
L1=[1,4,3, 2]

L2=L1

L1-sort( )

print (L2)

(1) [1,4, 3, 2]
(2) [1,2 3, 4]
(3) 1432
(4) 1234

Freafafed Taem Fie F AReyE F1 U T
L1=[1,4,3, 2]

L2=11

L1-sort( )

print (L2)

(1) [1,4,3,2]

(2 [1,2 3 4]
(3) 1432
(4) 1234
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
« 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112




If PL is a Python list as follow :

PL=['Basic’, ‘C’, ‘C++']

Then what will be the status of the list PL after
PL.sort (reverse =True) ?

(1) [‘Basic’, 'C’, “‘C++']

(2) [C++,'C, ‘Basic’]

(3) ['C, ‘C++, ‘Basic’]

(4) [‘Basic’, ‘C++', ‘C']

e U e fawe PL 1 weR E

PL=['Basic’, ‘C’, ‘C++]

Gl

PL.sort (reverse = True) % TTd hi TEdl 31 BT 2
(1) [Basic’, “C’, ‘C++']

(2) [‘C++,'C, ‘Basic’]

(3) [T, ‘C++, ‘Basic’]

(4) ['Basic’, "C++', 'C’]

Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

Identify the correct output of the following Python program.
CHARI{= [[’A” A‘Bf]’ [iC?, "D’]’ [lE}’ le‘]]

print(CHARR [1] [1])

(1) ‘A
2 ‘B
(3) C
(4) D

Frefafed T@eR duW % |El 1Y %I TEEE Hife
CHARR=[['A, ‘B, [T, ‘D], ['E, ‘F]|
print(CHARR [1] [1])

SN
@ B
®
O

Options:-




.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

The following Python list S is implemented as a stack.
S=[10, 12, 0, 4, 6]

If 10 is the element added (pushed) last into the stack S, which command from the following
option is best to remove (pop) an element from the Stack S, if not empty.

(1) S.pop(0)
(2) Sipop()
(3) S.remove( )
(4) S.remove(0)

Treaferfad T fa S &l T stack & ®9 H FHMif-ad fman 7 2|

S=[10, 12, 0, 4, 6]

AfE stack S H 10 TeAtHe =i 3id H Sirer (g@rn) T © ° Frefatea fawes § 9 #F @ F9E stack S 76
@redt = 21, § TeitHe 1 82 (pop) & HaiH 82

(1)  S.pop(0)

(2)  S.pop()

(3) S.remove( )

(4) Sxremove(0)
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

Traditionally the end of a stack from where PUSH(additional) and POP(deletion) take place,
popularly known as :

(1) FRONT
(2) TOP
(3) LIFO
(4) FIFO




TR B9 § R W& (Stack ) F 3d H 5@ ¥ PUSH (Sirg) 2R POP (fasiro) &ran g, &0 S g ?

(1) FRONT
(2) TOP
(3) LIFO
(4) FIFO
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

Identify the correct output of the Python code :

L1=[1, 2, 3]
L2=[4, 5]
L3=[6, 7]

L1l.extend(L2)
Ll.append(L3)

print(L1)

(1) [1,2,3,4,5,86,7]
(2) [123 [45]67
(3) [1,23,45,[6 7]]
(4 [L23 [45][67]

Y9 IS & el AB2Y2 i YgaH hifely
L1=[1, 2, 3]

L2=[4, 5]

L3=[6, 7]

Ll.extend(L2)
Ll.append(L3)

print(L1)

1y 11.2,% 4 5,6 7]
2 (123 [45],67
(8) [1.2,3,4 5 [6.7]]
4 [1,23, [4 5] [6, 7]

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117




Identify the correct output of the Python code :
TUP=([1, 2], [3, 4], [5, 6])

TUP[2] [1]=8

print(TUP)

(1) ([, 2], [8 4], [5 6])

(2) ([, 2], [3, 4] [8 6])

3) (1, 2], [3, 4] [5 8])
(4)

4)  will generate an error as a Tuple is immutable

Y9 HIS o Hel SA3eYe Hi TedM Hifey :
TUP=([1, 2], [3, 4], [5, 6])

TUP[2] [1]=8

print(TUP)

(1) ([L 2], [8 4] [5, 6])
(2) ([, 2] [3 4] [8, 6])
(3 (121, [3 4] [5 8))
(4) TH Ffe (AW) 3= HEN Fifh Tuple TIRETHT 7

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Identify the output of the following Python program segment :
S="Python Programming’

L=S.split( )

S="join(L)

print(S)

(I) Python Programming

(2) Python, Programming

(3) ,Python Programming,

(4) ,Python, Programming,




Frafafad ar=em v S % seye %l Ye9H Hife
S="Python Programming’
L =S.split( )
=/ join(L)
print(S)
(1) Python Programming
(2) Python, Programming
(3) ,Python Programming,
(4)

4 ,LPython, Programming,

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

If S="python language” is a Python string, which of the following command will display the
following output with ‘P’ in upper case and remaining in lower case ?

(1)  print(S.upper( ))

(2) printS.title( ))
(3) print(S.capitalize( ))
(4) print(S.sentence( ))

Ifg S—‘pymonlanguage’qﬂqwmﬁaﬁ‘a?ﬁﬁﬂﬁﬁﬂﬁﬁﬁaﬁqﬁmﬁmﬁﬁgﬂWﬂ?ﬁﬂﬁ
‘P 39Thd H @l SiR U8 SleTehy H, %] yelvia S 2

(1) print(S.upper( ))

(2) print(S.title( ))

(3) print(S.capitalize( ))

(4) print(S.sentence( ))
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120




Identify the correct output of the following Python Code :
Str="Hello World! Hello India!’
Pos=Str.index ("Hello")

print (Pos)
() 0
(2) 13
(3) [0, 13]
@ (0, 13)

Frfafad arem #re & T@ S8 i Y= Hife
Str="Hello World! Hello India!’
Pos=5tr.index (‘Hello")

print (Pos)
(1) 0
(2) 13
(3) [0, 13]
(4) (0, 13)
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121

If a List L = ["Hello’, “World!] Identify the correct output of the following Python command :
print(*L)

(1) Hello World!

(2 Hello, World!

(3) “Hello’, “World!”

(4) “Hello" "World!

7fg T fa L=['Hello/, ‘World!'] ® @1 fr=fafad w=em & @ 3T8eye &l 19 Hifa :
print (*L)

(1) Hello World!

(2) Hello, World!

(3) “Hello’, "World!’

(4) ‘Hello" "World!

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,




. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

If Str is a Python string as

Str="Hello World!

What will be the output of the following Python Command ?
print(Str.find(‘1'))

(1) 2
(2) 8
(3) [2 3 7]
4 @37
Ifg Str

Str="Hello World!"

% w9 4 u ygd fign @ @ Freafafes qeem #wie &1 siseye 0 gm ?
print (Str.find('1"))

(1) 2

2 3

3 [23 7]

4 @237

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

Suppose a Python tuple TUP is declared as
TUP=('A’, ‘B, ‘C))

Which of the following command is invalid ?
() TUP=(D’)

(2) TUP=(D',)
(3) TUP+ =(D)
(4) TUP+ =(D,)




g difee foF s 9=y 29a TUP & sifad faien 70 &
TOP={A% “B,“C)

Fr=fafas & @ @0 9@ Faie s § 2

(1) TUP=(D)

(2) TUP=(D")

(3) TUP+ =(D)

(4) TUP+ =(D,)

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

Identify the correct output of the following Python code :
TUP=(3, 1, 2, 4)

sorted(TUP)

print(TUP)

1) (31,2 4)

2) (1,23 4)

3 [31,24]

4) [1,2, 3, 4]

Tfafad e e % Wel S8y &l TedH Hitag
TUP=(3, 1, 2, 4)

sorted(TUP)

print(TUP)

1) (31,2 4)

2 (1,23, 4)

3 31,2 4]

4) [12 3 4]

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 4, Option ID : -496

Question ID:- 125




Find the correct output of the following Python program segment :
T=(T)

print(T=3)

(1) 3

@ (1,7,7)
(3) 111

(4 (%)

Freafafead aaem dom Sz % W@ ST=eqE & 9a @

T=(T)
print(T*3)

(1) 3

@ (a4, 19
(3) 111

4 (3)
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

Select the correct output of the given Python code from the following options :
S="INDIAN’
L =S.Partition('N’)
NS=L[0]+' ="+ LI1]+ =" +1]2]
print (NS)
(1) I-N-DIA-N-
2) I-DIA-
3) 1-DIAN

)

I-N-DIAN

(
(
(4

Trafafes fasedl 4 9 U 7TC 9=eE #iE 2 W&l 382Y2 & 99 Fifa :
S="INDIAN’

L =S.Partition('N’)

NS=L[0]+ ="+ L[1]+"—"+1[2]

print (NS)

(1) I-N-DIA-N-

(2) I-DIA-

(3) I1-DIAN

(4 I1-N-DIAN




Options:-

.1, Option ID :- 501,
. 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127

To execute the following code in Python, which module need to be imported ?
print( . mean([1, 2, 3]))

(1) math

(2) random
(3) statistics
(4) probability

e # fefafad e 1 FEifad 6 % fau 0 J=ga & 3908 (import) & &1 SAEYIHA
= 2

pring( . mean([1, 2, 3]))
(1) math

(2) random

(3) statistics

(4) probability

Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
« 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

Question ID:- 128

If D is a Python dictionary as

D={A":1,"B":2,C ;: 8}

Then, which of the following command will remove the entire dictionary from the memory ?
(1) del(D)

(2) D.del()
(3) D.clear()
(4) D.remove( )




7fe D wF wrHee feawmdl &

D={A":1,B :2,'C": 3}

dl frefefea o 9 &H | waie gud 9§ g fesemd g2 e ?
(1) del(D)

(2) D.del()

(3) D.clear( )

(4) D.remove( )

Options:-

.1, Option ID :- 509,
. 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

What will be the output of the following Python code ?
D1={A’:5,B :7,"C : 9}

D2={B" :5, ‘D : 10}

Dl.update(D2)

print(D1)

(1) {A’:5,'B :5,€ 18 “D°:10}

(2) A’ :5 B :5 €5 Bey ‘Dill}

(3) H{A’:5, 'C 8 1 210}

4y {'B :7,D 10 & 13.°C ; 9

Frfefad urem #ig %1 eye #9182
DI={A’:5, B :7,C :9

D2={B" : 5, ‘D" : 10}

DTl.update(D2)

print(D1)

(1) {'A’:5,"B’:5,'C’: 9, ‘D’ :10}

(2 {A":5 B :5,€:9 B:5 D10}
(3 {A:5,C:9 D :10}

4) (B :7,'D:10,’A’:5,C :9)
Options:-

.1, Option ID :- 513,

« 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130




Select the output for the given Python code from the following options :
Dl1={1:2,2:3,3: 4}

D2=Dl.get(1, 2)

print(D2)

(1) 2

(2 3

(3) [2 3]

(4 {1:2,2:3}

Frfafas fowedl § 9 fau v ymem #ie % fau em=ege &1 =94 Hife :
D1={1:2,2:3,3:4}
D2=Dl.get(1, 2)

print(D2)

() 2

(2) 3

3 [2 3]

(4 {1:22:3}
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
« 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131

Which of the following functions cannot be used with string(str) data type ?
(1) islower()

(2) isupper()
(3) isalpha( )
(4) isnum()
3T (str) 1S 2189 & WY I 91 B YR a8l a1 S Hehell © 2

(1) islower()
(2)  isupper()
(3) isalpha( )
(4) isnum()

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524




Question ID:- 132

Examine the given Python program and select the purpose of the program from the following
options :

N =int(input(“Enter the number”))

for i in range(2, N):

if (N%i==0):
print(i)
(1) to display the proper factors (excluding 1 and the number N itself)
(2) to check whether N is a prime or Not
(3) to calculate sum of factors of N
(4) to display all prime factor of the number N

feu o urem g w1 e sifsu oir fefafes fased § 3 domm & g2ise & =241 FifE
N =int(input(“Enter the number”))
for i in range(2, N):
if (N%i==0):
print(i)
1) SygF Eel (Feed) S weifd F6 F fou (1 3R N 9@ & Siga)
)  TETEH % fou fF F N 0% 39 e § s1van T2
3) N % UAEE! % AN i A F & g
4) N ¥en & 9+ 9T TUHETE i Eiia FH & fo

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

If A=random.randint(B, C) assigns a random value between 1 and 6 (both inclusive) to the identifier
A, what should be the values of B and C, if all required modules have already been imported ?

(1) B=0,C=6
@ B=0,C=7
(3) B=1,C=7
(4) B=1,C=6




7fg A=random.randint(B, C) TEEfCHER A%l 1 H 6 (I M) & == & Ted 9¢7 ol ¢ a1 B 3R
Cﬁaﬂw_@'fﬁ?ﬁiﬁ‘iﬁ WWW (import) &Y feru U g1 2

(1) B=0,C=6

2 B=0,C=7

(3) B=1,C=7

(4) B=1,C=6

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Identify the correct output of the following Python code :
from math import *

A=5.6

print(floor(A), ceil(A))
(1) 5 )

(2) 6 5

3 -5 —6

4y ~§ —D

Trefafas e e % Wel 32y Tl I8=H Hife

from math import *

A=5.6

print(floor(A), ceil(A))

(1 B 6

(2) 6 5

3 -5 —6

4 -6 =5
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533

Question ID:- 135




Identify the correct output of the following Python program segment :
import math

print(math.fabs(—10))

(1) 1

2) -10
(3) —10.0
(4) 10

TrefafEs qraes dum §He & WE ASYE Hi 989 Hifeg

import math
print(math.fabs(—10))

(H 1

(2) =10
(3) —10.0
(4) 10
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
« 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Consider the given Python programme and identify one possible output of this code out of the
following options :

from random import

Low =randint(2, 3)

High =randrange(5, 7)

for N in range (Low, High):
print(N, end="")

(1) 345
2) 23
(3) 45
(4) 3456




feu u yEeA grme W feaRr Fwifs oir fFreafafea fased § | 29 Fe & e gifad s=eye & 9ga9m
It
from random import *
Low =randint(2, 3)
High =randrange(5, 7)
for N in range (Low, High):
print(N, end="")

(1) 345

(2 23

(3) 45

(4 38456
Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Assuming all required modules have already been imported, identify the correct output of the
following Python program segment :

Data=[4, 4, 1, 2, 4]
print(mean(Data), mode(data))

(1) 14
2 41
(3) 34
(4) 43

7E Al TR g saveas Wiggd 3 (import) R faw U # Fefafad amem dom a9 %l
HZLYE I YEIH IS :

Data=[4, 4, 1, 2, 4]

print(mean(Data), mode(data))

(1) 14
2 41
(3) 34
(4) 43

Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138




Observe the Python code carefully and answer the following question :
def FUN(A):

L=[]
for i in range (2, A):
if (A%i==0):
L.append (i)
print(L)
N=10
FUN(N)
Identify the global identifier in the above code :
(1) A
2y L
(3) i
(4) N

T HIE H TEIHYES ek Hifan i fefafag ywe &1 @ S
def FUN(A);

L=[]
for i in range (2, A):
if (A%i==0):
L.append (i)
print(L)
N=10
FUN(N)
IYYHK HIe H global SESSHHEL Hl Tg=H hifeg :
(1) A
(2) L
(3) i
(4 N
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139




Observe the following Python program carefully.

import random

def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")

DICE( )

DICE(2)

DICE(2, 4)

Which of the following options cannot be an output of the above code ?

1) 433

413

354

643

H= 2 D
f i St e N

Frfafed gmeE 9™ &1 GedrgEs S hifeg ;
import random
def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")
DICE( )
DICE(2)
DICE(2, 4)
frefafad faemedl § & ®F a1 famey STge e 1 S18eqe el & Ghal & ?

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140




Identify the output of the following Python code :
def EXP(IN2):

global N1

N1, N2=N1+5, N2+10

print(N1, N2, end="")

N1=10
EXP(N1)
print(N1)

(1) 102015
(2) 152010
(8) 352015
(4) 1020 10

frfafad umem #ie % S8y &t YgdH Shifeu :
def EXP(IN2):

global N1

N1, N2=N1+5, N2+10

print(N1, N2, end="")

N1=10
EXP(N1)
print(N1)

(I) 102015
(2) 152010
(3) 152015
(4 1020 10
Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
« 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Question ID:- 141

Which of the following mode, when used in file opening statement in Python, generates an error,
if the file does not exist ?

(1) a+
(2) r+
(3) wH+
(4)




IyE § wEe i ®ede | g fRe o R afe wee faemm 9 A € 9 fFe de 9 3 (error)
Ieq=T Bt & 2

(1) a+
(2) x+
(3) w+
4 a
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142

Consider the following Python command :
File=open("Myfile’, ‘a’)

Which of the following option cannot be true ?
(1) “Mytfile’ can be a text file

2)  ‘Myfile’ can be a csv file

3) ‘Myfile’ can be a binary file

(
(
(4) “Myfile” will be created if not exist

Frefafad arem #aie 1 fomm w1
File = open("Myfile’, “a”)

frefafes § 9 =@ W fawes w@@ 72 2 ?
(1) “Mytile’ can be a text file

(2) “Myfile’ can be a csv file

(3) “Myfile’ can be a binary file

(4) “Myfile” will be created if not exist

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143




Which of the following is not true for the Python command :

File = open('story.txt’, ‘a+")

(1) More text can be written into “story.txt’

(2) Content of the file ‘story.txt' can be read.

(8) Content of the file ‘story.txt’ can be modified.

(4) Command generates an error, if the file “story.txt. does not exist.

YA FHIE F aN H B H BT Wl T 8 2

File = open(‘story.txt’, ‘a+")

(1) “story.bxt’ H 3R 2feress 2o foran s wehl €

(2) ‘story.ut’wsﬁ%ﬁ?ﬁ?ﬂ@wm%

(3) “story.txt’ WIEd % hee ol uRafid feman s wehar ©

(4) Hﬁ‘story.ut’wmﬂﬁ@?ﬁ%?ﬁm@ﬁ(ﬁﬂ)E?Q::Ig‘\'fﬁ%

Options:-

.1, Option ID :- 569,
. 2, Option ID :- 570,
« 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

Consider the following Python program segment :
File = open('Poem.txt’, ‘1)

T =File.readling( )

Identify the data type of T :

(1) String (str)

(2) List
(3) Tuple
(4) Dictionary

Frefefed grem g due 1 fa=r i
File = open('Poem.txt’, 1)
T =File.readline( )

T % SRIEEY %l TedH Iy ;
(1) String (str)

(2) List

(3) Tuple

(4) Dictionary

Options:-
.1, Option ID :- 573,

« 2, Option ID :- 574,




. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145

Name the Python module need to be imported to invoke the function ?

load( )

(1) csv

(2) pickle
(3) sqgl

(4) binary

load( ) SR =l FAN T & faq 3941¢ (import) FRT S ATl Wrae HigTe 1 A 41 8 ?

(1) «csv

(2) pickle

(3) sql

(4) binary
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

« 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

Examine the given Python program and select the purpose of the program from the following
options :

F=open('story.txt’, r+")

S=F.read( )

S=S.upper( )

F.seek(0)

F.write(s)

F.close( )

(1) to count the upper case alphabets present in the file

2) to convert all alphabets into uppercase in the file

(2
(3) to copy only the upper case alphabets from the file
(4)

to remove all lower case alphabets from the file




feu Ty g w1 e S feu Ty faeredl § 9 g o gASH S =EE S
F=open('story.txt’, ‘r+")
S=F.read( )

S=S.upper( )

F.seek(0)

F.write(s)

E.close( )

(1) Ee 9 fou TT TR E TewEeH (98 =) Wi A S % (o
(2) wEe T fou U g guil #1 o W (& Fu) H Fer & fore
(3) “hael WIS H A Y THEZH (&g FAUN) I FY L % fag
(4) FEA H g4l AR FH TTHEEE (B J91) Fl gT2H F fag

2

Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

seek( ) is a method of ?
(1) csvmodule

(2) pickle module
(3) text module

(4) file object

seek( ) TrEent W& faf¥ (method) 2 ?

(1) csvmodule

(2) pickle module
(3) text module
(4) file object

Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148




csv module need to be imported in a Python program to invoke or use the function :
(1) write( )

(2) writerow( )

(3) writeline( )

(4)  writelines( )

ferelt oI 9 H cov TS 1 TR FA w1 SAELIHA Bl § AMlE 9 HRIE F ST SA9d TN
IERISIESETE

(1) write()
2)  writerow( )

2

(
(3) writeline( )
(4) writelines( )

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149

Examine the given Python program and select the best purpose of the program from the given
options :

File = open(“Poem.txt”, “r”)

print(len(File.readline( ).splif( )))

File.close( )

(1) to count the number of words present in the file

(2) to count the number of lines present in the file

(3) to count the number of characters present in the file

(4)  to count the number of words present in the first line of the file

feu u rres W w1 wdtemn Y 3 fe e fasredi 6 9 gmmE % wafeH WIS = S
File = open(“Poem.txt”, “r”)

print(len(File.readline( ).split( )))

File.close( )

(1) wigel | few e veel i Ge i fEdl 5 o feg

() G e A e A R

(3) Ed ¥ feu U wEed # 9o #i fEd s F fon

(4) ES w1 Yeell @EA b fau 7y v i Hem it e w3 6 g

Options:-
.1, Option ID :- 593,
. 2, Option ID :- 594,




. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

CSV files are comma separated values saved as a

(1) text file

(2) binary file

(3) MySQL table

(4) random file

CSV files @1 =M1 ( s7eqfon) faziisr g gl g o % B9 ¥ o S ®
(1) text file

(2) binary file

(3) MySQL table

(4) random file

Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151

The creator of the open source Pandas Package for data analysis in the Python Programming
language was

(1) Wes Mcinney

(2) Mc Pandas
(3) John D.Hunter
(4) Travis Oliphant

g I SEs ° gR uAfatey % fou o 9 dere Yo & e 9 |
(1) =9 AfeT

(2) THH Y

(3) SHELEX

(4) 2ifaw sfathe
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604




Question ID:- 152

Which of the following is not bundled package with pandas ?

(1) six

(2) numpy
(3) pytz

(4) statistics

SIX

) pytz
4) statistics

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

Which of the following is equivalent of and operator while using Boolean indexing on data
frames ?

(1) &&
2 @
3) &
49 N

TR T W e SR o W s g frefafad § 3 9 39 9Hged or SR § 2
1) &&

2) @
3) &
(4 N

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154




Find the output of the following Python code :
import Pandas as pd
M =pd.series({'P’ : 10, ‘Q" : 90})

print(M)
M P Q
10 90
2 P 10
Q 90
3 0 P 10
1 Q 90
4 10 P
90 Q
Frefafad weem #e o1 $1seye I HIfT

import Pandas as pd

M =pd.series({'P’ : 10, ‘Q’ : 90})

print(M)
1 P Q
10 90
2 P 10
Q 90
(3) 0 P 10
1 Q 90
4 10 P
90 Q
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155

What will be the output of the following Python code ?
import pandas as pd
S =pd.series(20, 30)

print(S)
(1) TypeError
(2) 20 30
(3 0 20

1 30
(4 0 1

20 30




Frfafed rem #ie %1 2mseye # 8m ?
import pandas as pd
S =pd.series(20, 30)

print(S)
(1) TypeError
(2) 20 30
(3 0 20
1 30
(4 0
20 30
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

Fill in the blanks with an appropriate command from the given options to produce the output
shown on the right side of the following code :

import pandas as pd

D = [[1, 2], [3, 4]] Al A2
A = ['A1", WA2% Bl 1 /)
B = ['B1", "B2"] B2 3 4
Print(D)

(1) D=pd.DataFrame(D, columns= A, index=B)
(2) D=pd.DataFrame(D, rows =B, colunms=A)
(3) D=pd.DataFrame(D, B, i=A)

(4) D= pd.DataFrame(A, B, D)




Tr=farfad e o SRl 2R 39 Y e=eye & fee &g feu Tu fammedl § § Suge wHie 1 faa =
T st ;

import pandas as pd

D = [[1,2], B, 4]] Al A2
A = ['A1","A2"] BL 1 2
B = ['B1", "B2"] B2 3 4
Print(D)

(1) D=pd.DataFrame(D, columms= A, index=B)
(2 D= pd.DataFrame(D, rows =B, columns=A)
(3) D=pd.DataFrame(D, A)

(4) D=pd.DataFrame(A,

Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

What will be the output of the following Python code ?
import numpy as np

B =np.array([20, 50, 80, 30])

print(B, B.size, B.shape)

(1) (20, 50, 80, 30)
( [20, 50, 80, 30] 4,

(3) (20, 50, 80, c‘1[]) (4,
(4) [20, 50, 80, 30] (4

4, (4)
(4)
)4
) 4

7

Frafafas arem #1e o1 S8eye %0 2 ?
import numpy as np
=np.array([20, 50, 80, 30])

print(B, B.size, B. shape)
(1) (20, 50, 80, 30) 4, (4,)
(2)  [20, 50, 80, 30] 4, (
(3) (20, 50, 80, 30) (4,) 4
(4) [20, 50, 80, 30] (4,) 4

£

4)

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,
. 4, Option ID :- 628,




Answer Given:- 2, Option ID : -626

Question ID:- 158

Which of the following will help us to read the content of a CSV file ITEMS.CSV as pandas
DataFrame ?

(1) IT=pandas.read(“ITEMS.CSV")

(2) IT=pandas.readcsv(“ITEMS.CSV”)
(3) IT=pandas.csv_read(“ITEMS.CSV”)
(4) IT=pandas.read csv(“ITEMS.CSV”)

Freferfad 5 | =1 gl ders Serhd % B9 H [TEMS.CSV Figdl % #hee i Tgd d Ferddl T ?
(1) IT=pandas.read(“ITEMS.CSV”)

(2) IT =pandas.readesv(“ITEMS.CSV”)

(3) IT=pandas.csv_read(“ITEMS.CSV")

(4) IT=pandas.read_csv(“ITEMS.CSV”)

Options:-

.1, Option ID :- 629,
- 2, Option ID :- 630,
« 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

Consider the following import command :

import matplotlib.pyplot as PLT

Which of the following command will help us to draw a line chart for given values ?
(1) PLT.lineplot([100, 400, 200, 300])

(2)  PLT.plotline([100, 400, 200, 300])
(3)  PLT.line([100, 400, 200, 300])
(4) PLT.plot([100, 400, 200, 300])

Tferfad 3rdie (import) FHiE T fa=r HIfST

import matplotlib.pyplot as PLT

Freferfes o | % 9 wHis fgn g u & fog T oge =1 9 | gerEar S 2
(1) PLT.lineplot([100, 400, 200, 300])

(2) PLT.plotline([100, 400, 200, 300])

(3) PLT.line([100, 400, 200, 300])

(4) PLT.plot([100, 400, 200, 300])

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,




« 4, Option ID :- 636,
Answer Given:- 2, Option ID : -634

Question ID:- 160

Which of the following is DDL command ?
(1) UPDATE SET

(2) DELETE

(3) DROP TABLE

(4) INSERT INTO

frafafaa 5 9@ =6 H & DDL 9IS © 7
(1) UPDATE SET

(2) DELETE

(3) DROP TABLE

(4) INSERT INTO

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Question ID:- 161

Which of the following is DML command ?
(I) INSERT INTO

(2) DROP TABLE

(3) CREATE TABLE

(4) ALTER TABLE

frfafeg § 4 9 @ T DML FHE 2 2
(1) INSERT INTO

(2) DROP TABLE

(3) CREATE TABLE

(4 ALTER TABLE

Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
« 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162




An attribute or a set of attributes which are used to identify a tuple uniquely is known as :
(1) Primary Key

(2) Foreign Key
(3) Alternate Key
(4) Candidate Key

fordt et =1 Afgdta &9 § we=HA & forg v 0 (E=g2) 19a Ui & H9E w1 I FEd © ?
1) Primary Key

2) Foreign Key

3) Alternate Key

4) Candidate Key

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Which of the following is not a valid relational operator used in SQL ?
(1) < =

@ <>
® =>
@ =

frefefed § & = 91 SQL H YaH Th 51 HreIqish et Tl & 2

(1) <=
@ <>
(3 =
(4 =
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164




Which of the following is using wrong syntax for a SELECT query in SQL ?
(1) SELECT #+ WHERE RNO>100 FROM STUDENT;

(2) SELECT #* FROM STUDENT WHERE RNO>100;

(3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
(4) SELECT * FROM STUDENT WHERE RNO IN (100, 101, 105, 104);

SQL ¥ et SELECT % faIu Tietd sie—T=1 (syntax) &1 War1 fefafed § 9 fead fomn o €72
(1) SELECT # WHERE RNO>100 FROM STUDENT;

(2) SELECT * FROM STUDENT WHERE RNO>100;

(3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
(4) SELECT #* FROM STUDENT WHERE RNO IN (100, 101, 105, 104);
Options:-

.1, Option ID :- 653,

. 2, Option ID :- 654,

. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Which of the following will be the correct SOL command to add a new column FEES in a table
TEACHER ?

(1) ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(20 ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

gl TEACHER 29/e H U 991 FEES &icd Sired & fau @8t SQL #uig Fefafaa § 4 &9 9 €2
(1) ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(2) ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

Options:-
.1, Option ID :- 657,
« 2, Option ID :- 658,




. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

Which of the following will display a list of tables in a database ?
(1) DISPLAY TABLES;

) SHOW TALES;

) SELECT TABLES;

) VIEW TABLES;
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fordll Srerei (DATABASE) § 2o/l (TABLES) 1 &1 fohd YehR Wil feran s ?
1) DISPLAY TABLES;

2) SHOW TALES;

3) SELECT TABLES;

4) VIEW TABLES;

— e — —
—

Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

Which of the following will display information about all the employees from employee table,
whose names contains second letter as “A” ?

(1) SELECT * FROM EMPLOYEE WHERE NAME LIKE “_A%";
(2) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “%A_“;
(3) SELECT # FROM EMPLOYEE
WHERE NAME LIKE “__A%";
(4) SELECT * FROM EMPLOYEE
WHERE NAME =“_A%";

foEl EMPLOYEE Table & §sft shef=nfidi, fSmes =19 &1 gow o) ‘A’ €, % a) | e famm & feg
Tt v T siram 2
(1) SELECT * FROM EMPLOYEE WHERE NAME LIKE “_A%” ;
(2) SELECT #* FROM EMPLOYEE
WHERE NAME LIKE “%A_";
(3) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “_ _A%”;
(4) SELECT * FROM EMPLOYEE
WHERE NAME =“_A%";




Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
« 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

Question ID:- 168

Which of the following SQL command will help in incrementing values of FEES column in
STUDENT table by 10% ?

(1) UPDATE STUDENT
ASSIGN FEES=FEES * 1.1,
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES * 10%;
(4) UPDATE STUDENT
SET FEES 10%;

frafafad § & %9 W SQL FHie STUDENT 8@ H FEES e & 9gd gL HH 1 10% aeH o Ferd
M 2
(1) UPDATE STUDENT
ASSIGN FEES=FEES # 1.1;
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES #* 10%;
(4) UPDATE STUDENT
SET FEES 10%;

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

Which of the following is correct sequence in a SELECT query ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING




SELECT 999 © i 91 34 Hat & ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
« 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Consider the following tables and their respective degrees and cardinalities in a database called
SCHOQL :

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

Select the degree and cardinality of the cartesian product of the tables STUDENT X TEACHER
from the following options :

(1) 30 7500
(2) 200 325
(3) 30 325
(4) 200 7500

fedll SCHOOL DATABASE #H fi=faf@d |l (table) SR S8 Haiftd feif (degree) den shifefere
(cardinality) T fo=IR HifsT

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

frafafaa fasedi § ¥ STUDENT X TEACHER ¥RUI & &g 3@ (Cartesian product) &1 feii
(Degree) 3R FfEAfeTe! (Cardinality) 31 =37 I :

(1) 30 7500

(2) 200 325

(3) 30 325

(4) 200 7500
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,




. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Which of the following set of functions is a valid set of aggregate functions in MySQL ?
(1) AVG(), ROUND( ), COUNT()

) MIN(), UPPER( ), AVG()

)  COUNT( ), MAX( ), SUM()

) DATE( ), COUNT( ), LTRIM( )
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Fre=fafad | & &F w1 & (Function) H9g MySQL H witie waRiE (Aggregate functions) &1 A= HHE
g7

(1) AVG( ), ROUND( ), COUNT()

(2) MIN(), UPPER( ), AVG()

(3) COUNT( ), MAX( ), SUM( )

(4) DATE( ), COUNT( ), LTRIM( )

Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Find the output of the MySQL query based on the given Table-COACH (ignore the output header)
Table : COACH

C1D CNAME GAME SALARY

G03 VSHALI NULL 60000

G05 YUVRAJA CRICKET NULL

G08 MALKHAN | ATHLATICS 80000

G09 SACINDRA CRICKET NULL
Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000
2) 4 35000
3) 4 70000
) 3

(
(
(4 35000




1= & 7 WRO (Table) -COACH (#T82Ye Y &1 ToRARS i) T ARG MySQL T¥1 % A3Y2
1 A1 BT :

Table : COACH

C1D CNAME GAME SALARY

GO03 VSHALI NULL 60000

GO05 YUVRAJA CRICKET NULL

GO8 MALKHAN | ATHLATICS 80000

G09 SACINDRA CRICKET NULL
Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000
(2) 4 35000
(3) 4 70000
4) 3 35000
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

Find the output of the MySQL query based on the given Table-STUDENT (ignore the output header)
Table : STUDENT

S1D SNAME SEC MARKS

101 Ameena A 83

107 Arjun B 86

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;

(1) B 83
2 A 84
3) A 84
B 83
4 A 83
B 80




€l T HRUl (Table)-STUDENT W SR MySQL W9 % 3M3YE &l 1A HiTAC (38eqe oY &
TSRS )
Table : STUDENT

S1D SNAME SEC MARKS

101 Ameena A 83

107 Arjun B 86

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;
(1) B 83
) 84
(3)

(4)

@ > wE
oo
0

Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
« 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

Consider the following tables in a database called SPORTS.
Database ; SPORTS

Table : GAMES Table : PLAYERS
G1D | GNAME | FEES P1D |PNAME| SEX G1D
G01 Football 300 P101 | Amrita F G03
G02 Cricket 1000 P103 | Ameena F G02
GO03 |Basketball| 500 P107 Angel F G02
P109 Aman M GO03

Which is the best command from the following options to display the name of the player (PNAME)
and their respective games (GNAME)

(1) SELECT PNAME, G1D FROM PLAYERS ;

(2) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.G1D ;

(3) SELECT PNAME, GNAME FROM GAMES, PLAYERS ;

(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE P.GID=G.G1D ;




Treferfad SrfoEl (Tables) § SPORTS ek SRTeE W fa=R whifsy
Database : SPORTS

Table : GAMES Table : PLAYERS
G1D | GNAME | FEES P1D |PNAME| SEX G1D
G01 Football 300 P101 | Amrita F G03
G02 Cricket 1000 P103 | Ameena F G02
GO03 |Basketball] 500 P107 Angel F G02
P109 Aman M G03

faerEl (PNAME) 3R 374 Hafed @ (GNAME) % M &l Yaf¥id s @ fau frefafad famedl §
IETH FHES BA T ?
(1) SELECT PNAME, G1D FROM PLAYERS ;
(2) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.GID ;
(3) SELECT PNAME, GNAME FROM GAMES, PLAYERS ;
(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE P.G1ID=G.GID ;

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175




Following are the two tables in a MySQL database.
Database : COMPARTMENT
Table : SUBJECTS

Table : RESULT

SUBCODE| SUBNAME |MAXT|MAXP ROLL | SUBCODE | TMARKS | PMARKS

Informatics

065 _ 70 | 30 10045 083 70 30
Practices
Computer

083 OmPHEr | wg | 30 10135 065 56 29
Science

301 |English Core| 80 | 20 10231 065 63 30

10345 083 56 29

Select the command from the following options to display subjects (SUBNAME) and number of

students registered in that subject in table RESULT.

(D)

SELECT SUBNAME, COUNT (%)

FROM SUBJECTS, RESULT GROUP BY SUBNAME ;

SELECT SUBNAME, COUNT (*)

FROM SUBJECTS, RESULT ORDER BY SUBNAME ;

SELECT SUBNAME, COUNT (*)

FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;

SELECT SUBNAME, COUNT (*)

FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;




MySQL ETeTed § g1 §RIET (Tables) & T € :
TEEYE : COMPARTMENT

Table : SUBJECTS Table : RESULT
SUBCODE| SUBNAME |MAXT|MAXP ROLL | SUBCODE | TMARKS | PMARKS
Informatics
065 ) 70 | 30 10045 083 70 30
Practices
Compit
083 OmMPEEL [ w0 | 30 10135 065 56 29
Science
301 |English Core| 80 | 20 10231 065 63 30
10345 083 56 29

Subjects (SUBNAME) iR ¥RUfi- RESULT ¥ 39 fawa § <= 36 #1 e &1 g9+ % fau frefafag
Taehedl § ¥ %I =1 =944 Shife :
(1) SELECT SUBNAME, COUNT (%)
FROM SUBJECTS, RESULT GROUP BY SUBNAME ;
(2) SELECT SUBNAME, COUNT ()
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
(3) SELECT SUBNAME, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
(4) SELECT SUBNAME, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

- 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176

To establish the Python-MySQL connection, connect( ) method is used with certain parameters or
arguments. Which of the following is not a parameter/argument used with connect( ) method ?

(1) user

(2) password
(3) database
(4) table

Py thon-MySQL Y (connection) ®I1fUd F o fau EE] Ui A1 @l % wWiy connect( ) Tafy =1
Wﬁﬁmmﬁlcomect( ) fafy & iy fr=fafas § @ feg Tadevad = g2 98 2 2 2
(1) user

2) password

)

(
(
(4) table

)
) database
)




Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

commit( ) is required to be used after the execution of certain queries in Python-MySQL connectivity
applications. Identify one such MySQL command out of the following options :

(1) CREATE
(2) INSERT

(3) SELECT

(4 DROP

Python-MySQL #feefael (connectivity) T&Ah¥H H F® U1 & [59@A % & commit() =T FFMT
foren s e1dfam B Frerfafad fasedl A § Tt MySQL i i 98ar HifsT

(1) CREATE

(2) INSERT

(3) SEBLECT

(4) DROP
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

- 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

While working on Python-MySQL connectivity, fetchall( ) method is used to get data from table.
The method fetchall( ) returns -

(1) alist

(2) atuple

(3) tuple of lists
(4) list of tuples

Py thon-MySQL ERIEEICIE (connectivity) W &TH HTd THY, WU H ST U & o U fetchall fafy
1 YART T STl B | fetchall faf¥l T (return) =¥l ®:

(1) alist

2) atuple

) tuple of lists
) list of tuples
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(4




Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

The method cursor( ) is used in Python-MySQL connectivity applications. This method is a member
) i

(1) sgl module

(2) pickle module

(3) database-connectivity module
(4) «csvmodule

Py thon-MySQL FAfafafe Tefished § cursor( ) fafd =1 w@m foran s 81 I7 fafy frment wr ween
®7

(1)  sgl module

(2) pickle module

(3) database-connectivity module

(4) csvmodule

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Which of the following clause is used with SELECT command in MySQL to avoid duplication of
output rows.

(1) NO DUPLICATE

(2) UNIQUE
(3) DISTINCT
(4 NO REPEAT

MySQL H 318eYe Uikl (rows) =it SEfa H =91 % fa¢ SELECT *His & | f=fafed # § fee
FeATSt 1 WANT foma S € 2
(1) NO DUPLICATE

(2) UNIQUE
(3) DISTINCT
(4) NO REPEAT

Options:-




.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

- 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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